Sections 5.1 & 5.2 — I.C.E — Trig Identities

xSimplify the following to ONE trig function or numerical value:

1) cosZB+cosz[§—BJ 2) sintcsc[g—t]
T
cos(z—xj
3) ——=< 4) secycosy
sin E—X

5) (14 siny)(1+sin(=y)) 6) secz(g—xj—l
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Sections 5.1 & 5.2 — I.C.E — Trig Identities

Prove the following identities: be sure to only work ONE side of the equation!

1
+
tanx cotx

7) =tanx+cotx

8) coto+tana=cscoseco

9) sin’a—sin*o=cos’o.—cos*o

cot’t

10) =cost(csc’ t—1)

csct
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Sections 5.1 & 5.2 — I.C.E — Trig Identities

) 1+sm9+ cosle —9secd
cos® 1+sin6

12) tan’@+4=sec’0+3

13) cot’y(sec’y-1)=1
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Sections 5.1 & 5.2 — I.C.E — Trig Identities

1 .
14) ——— =cscx—sinx
secxtanx

Here’s a tough one if you want a challenge!

15) tanx+tany sinxcosy+cosxsiny

1-tanxtany cosxcosy—sinxsiny

Precalculus CP 1 Page 4 of 4



